Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER- VI EXAMINATION —Summer- 2019

Subject Code: 3361702 Date: 10-05-2019
Subject Name: Industrial Power Control
Time: 10:30 AM to 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Q1 Answer any seven out of ten. E1Hl SlEURL Ulctoll ellet L.
Draw the symbol of PUT, MOSFET.

PUT el MOSFEToll Ruclle €RL.

What is the use of freewheeling diode?
Freewheeling diode o{l Guao(lctt sl
Draw symbol of OPTO-SCR and IGBT?
OPTO-SCR 3l IGBT «il Ruellct €RL.
Define holding current.

aleslol dlesyas ol catvarl .

What is duty cycle in chopper circuit?

AUR URsle 1L syl AAsA Y B2

List four applications of SCR in industries.
SCR ofl 518 UR Be5LBHL GUA( AL Ul
What is the use of snubber circuit in SCR?
SCR Hl wle? A(S2 Gulo(lctl swual.
Define duty cycle for welding?

Aeslol MR sYEl AASE AL AL
What is sequence timer in resistance welding?
AU Aeslol Ul RsAU 2leHR 9 B?
What is Opto-Isolator? Write its applications.
Opto-lsolator 2 87? de{l Gualolldl cul.
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Q.2 (@  Explain output characteristics of MOSFET with neat circuit diagram.
Ysl.? () HlR¥eq] ABaye cletlllsdl el gl A AUl

OR
(@ Draw V-I characteristics of DIAC with neat circuit diagram.

(1) DIAC oll V-1 clletl@scll a9 as(d us R
(b) Explain SCR two transistor analogy.
(W)  SCR two transistor analogy AH%cll.
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Explain heat control using UJT AND SCR.

UJT Al SCR 6lRL cdlUMlol of [@2iotel At

Explain working of single phase Bridge Cyclo-converter.
Rt ¥u% (o WASA s0ctéR ofl stl-utuld Axesa

OR
Draw only output waveform for single phase Full wave control rectifier with
R-L load.

Rlowct 38 get Ao 521t EIS1AR ol R-L load H2 2Blzye Aagld
elRL.

Explain SCR electronics line contractor circuit.
SCR 8As2lolls clltsel slalse? s A& Axstal.

OR
Explain speed control of stepper motor.

U Hler ol alls sl AxostaAl.

Describe speed control for Induction motor.
5552el HleR ofl AUls 521 UMl

OR
Explain application of SCR as D.C. static switch.

SCR o{l D.C. static switch 31} oll Ul AH sl
Explain basic circuit for resistance welding.
AU ALl ofl YraMs sl Axesa

OR
Explain the Natural commutation technique for SCR.

SCR a el A oitd sclle{l utuld Al
Explain function of duty cycle for resistance welding with circuit diagram.
AR U ASlal UL syl AlUSA of st us(A A AHLA.

OR
Explain temperature control circuit using mercury thermostat.

U3l adlee oll Guallol 531 210U 52 ofl wisld Ue UMl
Explain ambient light control power switch.
ALAUR A2 $20E U A U

OR
Explain Bridge type inverter in detail.

(Ao YslRe] ot UHNLA.

Draw circuit diagram for Alarm circuit using SCR.
SCR oll Guallal 531 At ol ausld 1L

OR
Draw V-1 characteristics of SCR with neat circuit diagram.

SCR ofl V-1 ctlel@sdl e wsld ds R
Explain the working of series type inverter.
Ry 8octé oll stal-uruld AL

OR
Explain liquid level control circuit.
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@AGAs Aad 52c ol 2us(d Al

Explain construction and working of half control bridge converter with R
load.

8ls 52 (0o 508 of GitlRRl Ual stal-utld R-Als M2 89
ALl WA wHesal.

List out triggering methods for SCR and explain any one triggering method.
SCR & Al sRclloll Ued[Qull oll ol Aull ol 58 As Ul
U

Explain principle and working of step-down chopper.

RU-SIGlel AUR oltl0l wal slal-utu(d UHsLAl.

Explain basic D. C. chopper with neat circuit diagram.

A%s LAl Auell stel-uruld e vusld Us wHesAl.

Draw symbol and V-I characteristics of TRIAC.

TRIAC oll Rucllct A V-1 clal@sdl ofl a9 uigld €.
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